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struct Tree { 00000000 20000
int data ; 0000o00o0oooon
struct Treex left ; (1) 000 (W)-E)ooooooa
struct Treex right ; (2) 000000000000
} print_tree() OO
struct Tree*x top = NULL ; 00000000 find_tree()
ooood (»n-oooooo
void entry_tree( int value ) { oooooo
struct Treex* tail = &top ;
"7 (h)
while( *tail '= NULL ) { ) _
””””” B
if ( (*tail)->data =§ value ) (B) o ___
~~~~~~~~~~~~~ c
break ; (C) o ____
else if ( (xtail)->data > value )
tail = &( (*¥tail)->left ) ; (D) o _____
else TUTTTmmmmmoomoss D)
tail = &( (xtail)->right ) ; (€2 B

}
if ( *tail == NULL ) {
*tail = (struct Treex)malloc( sizeof( struct Tree ) ) ;
if ( *tail '= NULL ) { = ~7TTTooooomooososesss (E)
(¥tail)->data = value ;
(xtail)->left (*tail)->right = NULL ;

}
} | int find_tree( struct Treex p , int key ) {
} |
| while( ) {
void print_tree( struct Treex p ) { ettt (D3
if ( p !'= NULL ) { | if ( )
[ TTTmmmmmmmmmmmmmmeses (N3
print_tree( ) | return 1 ; // find!
””””””””””””” (F)2 I else if ( p->data > key )
printf( "%d\n" , ) | p = p—>left ;
”””””””””””””” G2 I else
} Tmmmmmmsmmmmsmmmmsssmnses (|3 |} Tmmmmmmememees (K)2
} | return O ;
I} (2x3+3x3)
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1. 0000 [0-9][0-9A-F]x 0 ODOOOOODOOOODOOOOODOOOODO
goboboooboooboobuoooxiobgbod

(1) 2-A (2) FA9 (3) 1AC (4) 3B* _ (4x4)

2. 0000000000D0000O0O00DOOOO0
oooooobooO0o0ooooooooobo0oooooooobobo0oooD - O
oo0ooooooooo d Oo0oooo e oooooooooboboooDboon
ooooooooooo ©

0000000000000 0O000On0O(3x3)
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00000000000000000000000000000000000(A)D(E)000
00000000 (5x5)

struct StrDeque { i struct StrDeque* sd_cons( char* s |,
char str[ 20 ] ; : struct StrDeque *p ,
struct StrDeque* prev ; struct StrDeque *n) {
struct StrDeque* next ; : struct StrDeque* nw =

(struct StrDeque*)mall oc(
si zeof (struct StrDeque));

void main() { Eif (nwi= NULL) {
struct StrDeque* top = H strepy( nw>str , s )
sd_cons( "#start”, NULL , nw>prev = p ;
sd_cons( "2nd iine", NULL : nw->next = n :
sd_cons( "#end", NULL, NULL) ) ) ;i }
top->next->prev = top ; : return nw :
t op- >next - >next - >prev = top->next ; i '
sd_insert( top , "1st line" ) ;
sd_del ete( top->next ) ;
}
top prev next
[T Isr ]
@——IOIQllst line ]
p@—»|><|Q|#start | sd _del ete( top->next )
sd_insert( top , d@ O|O| )@Ilne |
‘1st line" ) ; N

n@ >|O|Q|1$t line

|b|><|#end |
|C)|Q|2nd l'ine |
T ‘ voi d sd_del ete( struct StrDeque* p) {
struct StrDeque* d = p->next
void sd_insert( struct StrDeque* p , char* s ) { (O
struct StrDeque* n = sd_cons( s, p, p->next ) ; H
(D
. : (B)
(B) )

4 0000 (12413)

1. 0000 NODOODOOooooo20b00o0obooooboboboooboooooooo
gboobooboooboobobooobooboooobooooobooboo

2. BO00O00bOOoooOoboOo0obooooobooobooboobooboooooboooDooo
ooooogobD 40000000D00000D0ODOO

dat a[ ]
#define size 2 (S Ze
struct BTree { m
int size ; ptr[]

int data[ SIZE * 2 ]
struct BTree* ptr| SIZE * 2 + 1]

A
(2)fsiof- [- | (4)[21]32[35[2]
x [x [x[x[x] [x [x [x [x[x




00000 (00) 000000 000
AEI  2021/11/26 (3/3) 000

5 200000000 (25)

struct SMTree* smt_cons( char* stn , ooooooooon

struct SMTree* alp ,
struct SMTree* num ) goooooood

{
struct SMTree* ans = foutput] DO DOOOOOD
(struct SMTree*)malloc(sizeof (struct SMTree)) ; O0O0st0000O0
if ( ans '= NULL ) { o __ o ____
ans->state = stn ; I struct SMTree { oooooooo(@o)
ans->alpha = alp ; charx* state ;
ans->digit = num ; | struct SMTree* alpha ; nooboooooooo
| struct SMTreex digit ;
t ; ; > state
) return ans | stEﬂ ST
void check( SMTreex p , char* str ) { ? .
for( int i = 0 ; p != NULL && strl[i] != °\0’ ; i++ ) { a [0} alpha digit
printf( "%s:%c\n" , p->state , str[i] ) ; 0O
if ( isalpha( str[i] ) ) // 00 (a-z2) !
p = p—>alpha ; anEz
else if ( isdigit( strl[i]l ) ) // OO (0-9) 0
p = p—>digit ; _________________________
else int main() {

p = NULL ; struct SMTreex* st =
smt_cons( "ST" ,
smt_cons( "A"
NULL ,

smt_cons( "AN",NULL,NULL ) ) ,

}

if ( p !'= NULL )
printf( "Valid\n" )

else

printf( "Error\n" ) NULL ) ;
struct SMTree*x a = st->alpha ;
a—>alpha = a ;
________________ an->alpha = an ;
an->digit = an ;

check( st , "ab3" ) ;
check( st , "12" ) ;
return 0 ;

|
|
|
|
|
|
|
|
[output] | struct SMTree* an = st->alpha->digit ;
|
|
|
|
|
|
|

(15+10)

ooooo

isalpha(c) - 00O (A-Z,a-z)
isdigit(c) - OO (0-9)



